Division par 0,1 (J)

Trouvez chaque quotient.

77 - 0,1 = 26 +-0,1=
56 +-0,1= 94 +- 0,1 =
87 +0,1= 19 +0,1 =
5+01= 73 +0,1=
95 +0,1= 39+0,1=
35+0,1= 19+0,1=
73+0,1= 47 - 0,1 =
17 +0,1 = 42 - 0,1 =
41 + 0,1 = 62+0,1=
74+ 0,1 = 75+0,1=
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Division par 0,1 (J) Solutions

77 +-0,1=770

56 + 0,1 =560

87 +0,1=870

5+01=50

95+ 0,1 =950

35+0,1=350

73 +0,1=730

17+0,1=170

41-+0,1 =410

74 + 0,1 =740

Trouvez chaque quotient.

26 + 0,1 =260

94 + 0,1 =940

19 +0,1 =190

73+0,1=730

39 +0,1=390

19+0,1=190

47 - 0,1 =470

42 - 0,1 =420

62+ 0,1=620

75+0,1 =750
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